CODE RED - DO NOW
Complete Problems #1-4
1. Find the length of AB.
V58 ~ 7.6
2. Find the midpoint AB.
(0.5, 0.5)

3. If Bis the midpoint of AC,
then where is point C?

(5,-10) L
4. What is the slope of AB?

-7
3

Pythagorean Theorem Pt. 2
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Vocabulary
Right Triangle — A triangle with one right angle

Hypotenuse
the longest side
of a right triangle

The Pythagorean Theorem
¢’ = a* + b?
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Which of the following sets of numbers could be the side
lengths of a right triangle?
1) 33, 44, 55 2) 18, 24, 39
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Find the distance between each set of points.
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Pythagorean Theorem in Squares
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Pythagorean Theorem in Squares
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